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int main(void){
int i,j;

for(i = @;1 < 10;i++){
test1();

}

Fedom [ e d )

if(i == 0){
test2();

Yelse if(i == 1){
test3();

telse {
test4();

}

while(i '=0){
test5();
}

printf("%d",1);
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3.1 Visual Studio

0 3.1 O VisualStudioExpress2013[VS] 0 0000000000000 OOOOOO0O
oon

D¢ little.c - Microsoft Visual Studio Express 2013 for Windows Desktop Q' XY | 51ysiEs (ctrl+Q) P = O X
I7OUF) REE) TRV) JOSTHRP) F/WHD) FoAM) YUT) FANS) DA4VEIW) ALTH) By
io-o|BaE| 9| > rryE - | imi| == m :
little.c + X

#include<stdio.h> [E3

Eint program!(int local_val){

int arrangel[5] = {10, 3, 14, 43, 21};
int valuel;

int i;

valuel = arrangel [0];
if(local _val > 0){
for{i=0;i<G5i++){
if (arrangel[i] > valuel){
valuel = arrangel[il;

H
}
else if(local_val <= 0){
for(i=03i<G5i++){
if(arrangel[i] < valuel){
valuel = arrangel[il;

}
}

return valuel;

Sint main(){

int a;

a = prograni (35);
printf ("%d¥n”,a);
return 0;

O 3.1: VisualStudioExpress2013
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DQ sample2.c - Microsoft Visual Studio Express 2013 for Windows Desktop 0 Y | o1voEs (cui+Q) P = 0O X
J7UF) REE) TRY) TOSTHNPE) FwHD) F-AM Y-IUT) FANS) DAPEIW) ~ALTH) Hrv1> F
fe-o|lBamd|o - »rsyr- - \ |8 i =R .
sample2.c ® X
Vo 1
80 telse { l L+
81 if (local _val < -50){ -
82 valuel = arrangel[0]; S
83 for(i = 05i < 10;i++){ o
84 if(arrangel[i] > 10 && arrangel[i] < 30){ o
85 valuel = arrangel[il; ]
86 1 i
87 } ,
88 ~
89 value2 = arrange2[0]; oot
a0 forli = 03i < 10;i++)1 L
a1 if(arrange2[i] > 30 && arrange2[i] < 50){ o
gg . value2 = arrange2[il; “':
94 } et
95 et
96 valued = arrange3[0]; Sarr
a7 for(i = 03i < 105i+4){ ¥
98 if(arrange3[i] > 50 && arrange3[i] < 80){ o
‘gg , value3 = arrange3[il; "t
101 } :
102 [
103 if (valuel < value2){ =
104 if(valuel > value3){ -
105 return valuel; -
108 telse { "
107 return valued;
108
109 else {
110 if(value2 < value3){
1 return value2;

032000000

0
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Dd sample2.c - Microsoft Visual Studio Express 2013 for Windows Desktop B Y | sryuiEs (cr+Q) P - B Xx
J7AOUF) REE) BRV) TOSIHONP) FWID) F—AM) Y-IUT) FANS) DAZEIW) ALTH) Hria> H
Bl 9 | »7oys-- |#imE| =2 R g

sample2.c ® X

; Hinclude<stdio.h> mp
3 Eint programl (int local _val){ =
4 int arrangel[10] = {10, 3, 50, 43, 24, 87, 94, 35, 17, 71}; =
5 int arrange2[10] = {98, 5, 24, 50, 17, 72, 36, 43, 68, 85}; ¥
[ int arrange3[10] = {30, 47, 8, 84, 78, 21, 39, 53, B4, 12}; =
7 int valuel,value2,value3; B
i int i =
9 =
10 if(local _val > 0){ -
11 if (local _val > 50){ :
100 % ~
y ’ —
80 lelse { .
81 if (local _val < -50){ -
82 valuel = arrangel[0]; L
83 for(i = 051 < 10;i++){ i
84 if (arrangel[i] > 10 & arrangel[i] < 30){ =
85 valuel = arrangel[il; -
86 H )
87 H G-
89 value2 = arrange2[0];
a0 for(i = 05i < 105i+8){
91 if (arrange2[i] > 30 & arrange2[i] < 50){ =
92 value? = arrange2[il; e
93 } oo
94 H -
95 o
6 value3 = arrange3[0]; %
a7 for(i = 0;i < 10;i++){
98 if(arranze3[i] > 50 & arrange3[i] < 80){
an fialiiad = Aveamaadfile

03320000
0
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[G] File: little.c * C:¥Users¥hashizume¥Dropbox¥Public... [ = |[ @ |[ =
File Edit View Build Project Settings Tools Window Help _ |&|X

aHES XD Be BOD

‘E‘ »

4
k| #include<stdio.n>

§ int programl (int local_val){
;| int arrangel[5] = {10, 3, 14, 49, 21};
int valuel;

int i;

valuel = arrangel[0];
if(local_wval > 0){
for (i=0;i<5;i++) {
if (arrangel([i] > valuel){
valuel = arrangel([i];
}
}
}
else if(local_val <= 0){
for(i=0;i<;i++){
if (arrangel[i] < valuel){
valuel = arrangel[i];
}
}
}

return valuel;
}

int main(){
int a;
a = programl (35);
printf("%d\n",a);
return 0;

}

a

L]

EMI i ]

[

l lest3.c l main.c I samplel.c I Iittle.c’ ‘ |
>

BEE® Line:35 Col1 Code:0  Top:1

OVS IBLK

[GI File: little.c * C:¥Users¥hashizume¥Dropbox¥public... [ = |[ @ ][]

File Edit View Build Project Settings Tools Window Help _ X

EEIEERFA e

Wi] »

4
¥ #include<stdio.h>

E int programl (int local_val){
= int arrangel[5] = {10, 3,
= int valuel;

- int i;

— wvaluel = arrangel[0];

—ﬂolif(lccal_val > 0){

: for(i=0;i<5;i++) {

: —Olif(arrangelli] > valuel) {
: valuel = arrangel([i];
o}

: }

1

O—Llse if(local_val <= 0){

: for (i=0;i<;i++){

—Olif(arrangel[i] < wvaluel){

valuel = arrangel([i];

n

)
}

H

4—— return valuel;
L}

E int main(){

- int a;

— a = programl (35);
— printf("sd\n",a):;
«4—1— return 0;

L}

14, 49, 21}:;

D]

[l

Lel

§l<l ] I

| Etestc | Emanc | [Esampierc | [Eitvec | |

i

034000000000
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stee 0 U Irg a0 ABSAEULIFTET. E0BA1I0
, LD EDEEO HE-E5. B0 B S REE:
else { té

HIEHEED FUELETERT .

FEND AERIZIRTAENDIELT, return X2 w7 .
break ZOEIL R THS.
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[G] File: sample2.c * C:¥Users¥hashizume - JGRASP CSD (C) [ @[ =] | [GFile: sample2.c * C:¥Users¥hashizume - JGRASP CSD (C) [s=]=
File Edit View Build Project Settings Tools Window Help = |E|X| | File Edit View Build Project Settings Tools Window Help L X
adm & ¥ @ BRD ¥ Tervze | |odns XnbapibdF veEv e
#include<stdio.h> - #include<stdio.h> s
[ int programi(int local_val){ P [l int programi (int local_val){
= int arrangel[10] = {10, 3, 50, 43, 24, 87, 94, 35, 17, 71}; |& - int arrangel[10] = {10, 3, S0, 43, 24, 87, 94, 35, 17, 71}:
= int arrange2[10] = {98, 5, 24, 50, 17, 72, 36, 49, 66, 85}; - int arrange2([10] = {98, S, 24, S0, 17, 72, 36, 49, 66, 85);:
= int arrange3[10] = {90, 47, &, 84, 79, 21, 39, 53, 64, 12}; L. - int arrange3[10] = {90, 47, &, 84, 79, 21, 39, 53, 64, 12}:
= int valuel,value2,value3; = int valuel,value2,value3;
= int i; = int i
if(local_val > 0){ if(local_val > 0){
: if(local_val > 50){ if (local_val > 50){
: |— valuel = arrangel[0]: .
: for(i = 0;i < 10;i++){ else {
Do if (arrangel[i] > valuel){ : —‘—El
Lo valuel = arrangel[i]: D)
Lo oS else {
ol } v—L()]Efélacal_val < -50){
i il — value2 = arrange2(0]; . Lelse {
P for(i = 0;i < 10;i++){ : —|—E|
N if (arrange2[i] < value2){ Y
H value2 = arrange2[i]; <— return 0;
. i} Ly
N }
H [ int main(){
: for(i = 0;i < 10;i++4){ = int a;
H arrange3[i] = arrange3[i] + 10; — a = programl (-65):
o } — printf("sd\n",a):
: l— value3 = arrange3[5]: <—+— return 0;
. Ly
: if (valuel > value2){
H if (valuel > value3){
«t o return valuel;| iy i
< T | '@ < e
[&] sample2c * | [&] sample2c * |
J=[E]) Line:33 Cot30 Codell Topl Duslolk | BEE® Line90 Gol5 Code:178 Top!  vs [BLK

U 38 000aoo

g 39000000
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gooobogoo3sbooooboobobooobooboboooooboobobobooooon
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b sam- B X | oouomE (Ciri+Q) P ISTRE
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DA RIW)  ALT(H)

immE| =2 9%,

sample2.c* ® X
if(local_val > D){
if (local_val > 50){
valuel = arrangel[0];
for{i = 0;i < 105i++){
if(arrangel[i] » valuel){
valuel = arrangel[il;

}

value? = arrange2[0];

for{i = 0;i < 105i+4){
iflarrange2[i] < value2){
value? = arrange2[il;

1

for(i = 0;i < 10;i++){
arrange3[i] = arrange3[i] # 10;

valued = arrange3[5];

if(valuel > value2){
if(valuel > valued){
return valuel;
telse {
return valued;

lelse {
if(value? > value3d){
return value2;
telse
return valued;

lelse {
for{i = D;i < 10;i++){
if(arrangel[i] » local_val){
valuel = arrangal [i]:

H

for(i = 0;i < 10;i++){
if(arrange2[i] < local _val){
value? = arrange2[il;

14 5 53F

0O 3.10: VisualStudio

ey «

[G] File: sample2.c * C:¥Users¥hashizume - JGRASP CS...[ o |[ @ |[ =
File: Edit View Build Project Settings Tools Window Help _ |5 b ¢

adma K Bl« BEDF T »

I :f[local_val > 0){

_(-)1—0- if (local_val > 50){
i — wvaluel = arrangel[0]:
—fjfor(i = 0:i < 10:;i++){

—O—IE(arrangelli] > wvaluel){
: valuel = arrangel[i]:
i ¥

}

value? = arrange2[0]:
for(i = 0;i < 10;i++)1{

—O—lif(arrange2[1] < wvalue2){

: value2 = arrange2[i]:
s}

}

ifor(i = 0:i <
}7 arrange3[i]
}

— wvalue3 = arrange3[5]:

if (valuel > value2){
: if (valuel > value3){
: : : return valuel;

10:i+4+) {
= arrange3[i] + 10:

-~

m

-t
:}
0 s
-+t L return value3;
: = ¥
D}
qelse {
-LO-IEivalueZ > value3){
-« : return value2:
S
i i
-+ + return value3;
il
= |
}
else {
for(i = 0;i < 10;i++)1{
if {arrangei[i] > local_val){
valuel = arrangel[i]:
< | m v
|
BOES Line53 Colk11 Codeld Topld DVSIBLE

0 3.11: jGRASP
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for3X
ifXX
else ifXC forX
elseXX if3 else ifXX elseXX
whileXX whileZ
041: 0001 0420002

#include<stdio. h>

int programi (int local_val) {
int arrange1[5] = {10, 3, 14, 49, 21};
int valuel;
int i;

valuel = arrangel[0]:

if(local_val > 0){ else if(local_val <= 0){
for (i=0:i<5;i++) { for (i=0:i<5;i++) {
if(arrangel[i] > valuel) { if(arrangei[i] < valuel) {
| valuel = arrangel[i]: valuel = arrangel[i];
1 1
1
return valuel;
int main( {

int a;

a = programl (35) ;
printf ("%d¥n”, a) ;
return 0;

}
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#include<stdio.h>
int 1(int_local_val){ mmes
Zlint program!(int local_va " "
int arrangel[5] = {10, '3, 14, 49, 21}; Finclude<stdio-h>
int valuel;
int i; int program1(int local_val)
int arrange1[5] = {10, 3, 14, 49, 21};
valuel = arrangel[0]; int value1;
if(local _val > 0){ inti;
for (i=0;i<5;5i+4){
if(arrangel[i] > valugl)( value1 = arrange1[0];
) valuel = arrangel [i]; if(local_val > 0) else if(local_val <= 0)
} for(i=0;i<5;i++) for(i=0;i<5;i++)
ilse i (local_val <= 0){ if(arrange1[i] > valuet) if(arrange1[i] < valuet)
for (i=0; i<§; i+4){ value1 = arrange1[il; value1 = arrange1[il;
if(arrangel [i] < valuel){
valuel = arrangel[il;
H
} return value1;
return valuel;
int main()
=int main(){ inta;
int a; a = program1(35);
a = progranl (35); printf("%d\n",a);
printf ("%d¥n”,a); return 0;
return 03
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0 5.1 0 WindowProgramingO O OO OO OOOOOOOOOOOOOOO

|| WindowPrograming o |[®@][=]
I7AWE AF a0
little.c

#include<stdio.h>

int program1(int local_val)
int arrange1[5] = {10, 3, 14, 49, 21};
int value1;
inti;

value1 = arrange1[0];

if(local_val > 0) else ifilocal_val <= 0)

for(i=0;i<5;i++) for(i=0;i<5;i++)

if(arrange1[i] > value1) if(arrange1[i] < value1)
wvalue1 = arrange1[i]; value1 = arrange[if;

return value1;

int main()
int a;
a = program1{35);
printf("%dn",a);
return 0;

x:9.0 y:64.0 zoom:1.0

O 5.1: WindowPrograming
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(2] WindowProgram...| o |z =2 | (£] WindowProgr... [ o || @ | =2 ]
A INE) AT a0 7AW E) ATFraQ)
little2.c =
Hinclude<stdio h> it
#includecmidio b>
int_ pgamlnt] Sosl Sy int programi(int local _val )
:: 3219?1 [5]1={10, 3,14, 43, 21} intarangel[5) = {10, 3, 14,49, 21}
inti: int valoe;
. mig
value! = arrangeq [0]; valee! = arranget[d];
for(i=0;i=<5ii++) or(i=0;i<5;i++)
if(arrange 1] » valuet) if(arrangeq i] > valuel)
valuel = arrange1fi]; walue! = arrangel[i]:
return valuel; et waluel;
int m=ing) int_main()
inta; it
3 = program(35); == m"';‘.{m_;
printi(%din” a); e
return 0;
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A.1 000 1 samplel.c

#include<stdio.h>

int programl(int local_val){
int arrange1[10] {10, 3, 14, 49, 21, 39, 54, 35, 17, 41};
int arrange2[10] {92, 84, 79, 21, 56, 82, 8, 53, 64, 12};
int arrange3[10] {96, 47, 37, 72, 36, 49, 5, 24, 50, 17};
int valuel,value2,value3;

int i;

valuel = arrangel([0];
for(i = 0; i < 10; i++){
if (arrangel[i] > valuel){
valuel = arrangell[i];
}
}

value2 = local_val;
if (valuel < 30){
for(i = 0; i < 10; i++){
if (arrange1[i] > value2){
value2 = arrangell[i];
}
}
}else if(30 <= valuel && valuel < 60){
for(i = 0; i < 10; i++){
if (arrange2[i] < value2){
value2 = arrange2[i];
}
}
}else if (60 <= value){
for(i = 0; i < 10; i++){
if (arrange3[i] == value2){
value2 = arrange3[i];

}
}

return value2;

}

int main(){
int a;
a = programl(35);
printf ("%d\n",a);
return 0;
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A.2 000 2 sample2.c

#include<stdio.h>

int programl(int local_val){
int arrangel[10] {21, 39, 53, 64, 12, 10, 3, 50, 17, 71};
int arrange2[10] {8, 5, 24, 50, 17, 72, 36, 11, 66, 353};
int arrange3[10] = {90, 47, 8, 84, 79, 21, 39, 53, 64, 12};

int valuel,value2,value3;
int i;

valuel = 0;
for(i = 0; i < 10; i++){
if (arrangei[i] > local_val){
valuel++;

}

value2 = 0;
for(i = 0; i < 10; i++){
if (arrange2[i] < local_val){
value2++;

value3d = 0;
for(i = 0; i < 10; i++){
if (arrange3[i] > local_val - 10 && arrange3[i] < local_val + 10){
value3++;

}

if (valuel > value2){
if (valuel > value3){
return valuel;
Yelse {
return value3;

}
Yelse {
if (value2 > value3){
return value2;
Yelse {
return value3;
}
}
return O;

int main(){
int a;
a = programl(24);
printf ("%d\n",a);
return 0;
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samplel.c

#include<stdio.h>

int program1(int local_val)

int arrange1[10] = {21, 39, 53, 64, 12, 10, 3,50, 17, 71};
int arrange2[10] = {8, 5, 24, 50, 17, 72, 36, 11, 66, 35);
int arrange3[10] = {90, 47, 8, 84, 79, 21, 39, 53, 64, 12};

int value 1,value2,value3;

inti;

value1 = 0;

for(i = 0;i < 10;i++)

iffarrange1[i] > local_val)
value1++;

value2 = 0;

for(i = 0;i < 10;i++)

if(arrange2[i] < local_val)
value2++;

value3 = 0;

for(i = 0;i < 10;i++)

if(arrange3[i] > local_val - 10 &8 arrange3[i] < local_val + 10)

value3++;

if(valuel > value2)

if(value1 > value3) |else

if(valuez > valued)

return value1; return value3;

return value2;

return value3;

return 0;

int main()
int a;
a = program1(24),
printf(*%dn",a);
return 0;

O A.l: samplel.cO0OD0OOOOO
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A.3 000 3 sample3.c

#include<stdio.h>

int programl(int local_val){

int arrangei[10] = {10,
int arrange2[10] = {98,
int arrange3[10] = {90,
int valuel,value2,value3

int i;
if (local_val > 0){
if(local_val > 5
valuel

for(i =

value?2
for(i =

for(i =

}

value3

if (value

}else

}else {
for(i

for(i

for(i

}

value3

3, 50, 43, 24, 87, 94, 35, 17, 71};
5, 24, 50, 17, 72, 36, 49, 66, 85};
47, 8, 84, 79, 21, 39, 53, 64, 12};

H

0){
arrangel[0];
0; i < 10; i++){

if (arrangel[i] > valuel){
valuel = arrangell[i];

}

arrange2[0];

0; i < 10; i++){
if (arrange2[i] <
value2 =

value2)q{
arrange2[i];

}

0; i < 10; i+H){
arrange3[i]

arrange3[i] + 10;
arrange3[5];

1 > value2){
if (valuel > value3){
return valuel;
}Yelse {
return value3;

if (value2 > value3){
return value2;
}Yelse {
return value3;

0; i < 10; i++){
if (arrange1[i] > local_val){
valuel = arrangell[il;

}

0; i < 10; i++){
if (arrange2[i] < local_val){
value2 = arrange2[i];

}

0; i < 10; i++){

if (arrange3[i] == local_val){
value3 = local_val;

}Yelse {
value3 = 0;

}

arrange3[5];
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if (valuel < value2){
if (valuel < value3){
return valuel;
Yelse {
return value3;
}
}else {
if (value2 < value3){
return value2;
}Yelse {
return value3;

}
Yelse A
if (local_val < -50){
valuel = arrangel[0];
for(i = 0; i < 10; i++){
if (arrangel[i] > 10 && arrangei[i] < 30){
valuel = arrangell[i];

}

value2 = arrange2[0];
for(i = 0; i < 10; i++){
if (arrange2[i] > 30 && arrange2[i] < 50){
value2 = arrange2[il;

}

value3 = arrange3[0];
for(i = 0; i < 10; i++){
if (arrange3[i] > 50 && arrange3[i] < 80){
value3 = arrange3[i];

}

if (valuel < value2){
if (valuel > value3){
return valuel;
Yelse {
return value3;
}
}else {
if (value2 < value3){
return value2;
Yelse {
return value3;

}
Yelse {
valuel = arrangel[0];
for(i = 0; i < 10; i++){
if (arrange1[i] < 10 || arrangel[i] > 30){
valuel = arrangell[i];

}

value2 = arrange2[0];
for(i = 0; i < 10; i++){
if (arrange2[i] < 30 || arrange2[i] > 50){
value2 = arrange2[i];

}

value2 = arrange3[0];
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for(i = 0; i < 10; i++){
if (arrange3[i] < 50 || arrange3[i] > 80){
value3 = arrange3[i];

}

if (valuel > value2){
if (valuel < value3){
return valuel;
Yelse {
return value3;
}
Yelse {
if (value2 > value3){
return value2;
Yelse {
return value3;

}

return O;

int main(){
int a;
a = programl(-65);
printf ("%d\n",a);
return 0;
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O A2000000000000000000000

sample? ¢

#ncludesstdio h>

int program1{irt local_val )

nt arrange1(10] = {10,

3, 50,
5, 24,
nt valuel value2 valued;

i
i
i
i
inti;

iffiocal_val > 0)

ifflocal_val » 50) else

valuel = arrange1[0]; forfi = 0 < 10;i++]

forfi = 0;i < 10ji++ iffarrange (] » local_val)
valuet = arranget[];

value2 = arrange2[0];
for(i = 0j = 10;++)

value2 = arrange2f];

forli = 0, < 10;i++]

_ valued = local _val; % valued = 0;
arrangedf] = arrange3f] +10;
valued = arrangesp); value3 = arrangesf);
iffvaluel = valuez) else [Hivaluet < valuez)
[fAivaluet = value3) [sise | [fAivaluez = value3) |else |
_ return valuet; 7 return valu3; _ _ return value2; 7 return value3; _ return valuet, return values;
else
iflocal_val < -60) else
valuet = arrange1p: valuet = arrange1[0];
for(i = 03 = 10j++] forfi = 04 = 104++]
ii(arrange1] > 10 &4 arrange1f] < 30) if{arrange 111 < 10 || arrange1§] > 30)
valuet = arrangetfil; valuet = arranget[|;
value? = arrange2[]: value2 = arrange2[0];
[for(i = 07 = 10j++) for(i = 04 < 103++]
value? = arrange2f; value2 = arrange2[];
wvalued = arrange3[0); wvalue2 = arrange3(0];
forli = 03 < 10j++ forfl = 04 < 10,++)
H{arrange3[i] > 50 &4 arrange3]] < 80) (arrange3]] < 50 || arrange3f] > 80)
valued = arrange3f]; valued = arrange3[];
[Fivaluet » vaiuez]
| iivaluet < values] |eise
return valuet; return valued, return value?; return valued; _ return valuet. return value3; return value2; return values;

return 0;

O A2: sample2.c00000000O
O
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